COMMSCOPE’

Installation Instructions

SSC-760237600E2X-INSTALL INSTALLATION INSTRUCTION

MICRO RADIO ENCLOSURE - ERICSSON VERSION

o

i
=_==_=_=@==_=_=
[
i
O

__m 1o
m_==_=
il
i
E__
i)
i
i

T T T T 1
° o [
: o E
. W
o ° ° T _== ====_==_O
o o o ° iy
N o IEOHCD o
(] o © o
©
-] © o o
© o]
° IE0IOD
e
(-]
- ° ° o
) oy -
o o i
e
ol
PR - W - o =
© o o
ool O
sy bR noh Dot
— OBt o e
VR e T .
8 oA BB
> i o
= ° I I
& R o
ST N Ay
AN © o I I
S~ ° NUAUAUAURLALALALALAKALALA 7 7 7 77;_7
R I

(22.12(561.8))

Iy -
_“__“_____“_“__“_____“_“Eﬂ__?“_“:mﬁmm_n__?_% o
____===____===____===__=:=____====

(44.00(1117.6])

REVISIONS

DESCRIPTION
INITIAL RELEASE

APPROVED

LX1002
40205065CMO

DATE
NSUN
26SEP24

REV.

This table show the evolution and history of document from initial to current version.

Further information regarding CommScope’s commitment can be found at www.commscope.com/About-Us/Corporate-Responsibility-and-Sustainability.

Visit our website or contact your local CommScope representative for more information.

This product is covered by one or more U.S. patents or their foreign equivalents. For patents, see www.commscope.com/ProductPatent/ProductPatent.aspx

10F5

SSC-760237600E2X-INSTALL

VERSION 00 STATUS RE REV A

MODEL VERSION 00 STATUS RE REV A



Installation Instructions COMMSCOPE’

10 GENERAL NOTES
11 ALL DIMENSIONS ARE IN MM, IMPERIAL DIMENSIONS ARE IN INCHES AND SHOWN IN BRACKETS [X.X]
2.0 DESIGN NOTES
3.0 MANUFACTURING/SPECIAL REQUIREMENTS
3.1 TIGHTEN HARDWARES, TORQUE VALUE ARE SHOWN BELOW AS REFERENCE,
M4: TORQUE 19.50 IN-LB OR 2.2 N-M
M5: TORQUE 23.0 IN-LB OR 2.6 N-M
M6: TORQUE 40.0 IN-LB OR 4.5 N-M (W/ CLIP NUT) 4890
M6: TORQUE 46.0 IN-LB OR 5.2 N-M (W/ THREADED CAST AL) 4490
M6: TORQUE 75.0 IN-LB OR 8.5 N-M (W/ STEEL NUT)
M8: TORQUE 6.6 FT-LB OR 9.0 N-M (W/ THREADED CAST AL)

1/4-20: TORQUE 4.8 FT-LB OR 6.6 N-M
3/8-16: TORQUE 19.6 FT-LB OR 26.6 N-M
[3:2> CONFIGURATIONS AND QUANTITY OF EQUIPMENTS IN INSTALLATION ARE LISTED ON TABLE. a
33  EQUIPMENT INSTALLATION INSTRUCTION ON PAGE 2. i’ p
? ay "y
» il y
e | .
[3.2> APPROVED ERICSSON RADIO CONFIGURATIONS %%%%
CONFIGURATION o .
4490 4890 ACO08 DIPLEXER ; %:2 %%Zf?%%
z .
1 1 1 2 1 %ﬁﬂj .
e 7 -
////ﬁ /{ W///////
e . -
— o . 4
o 7 (1
— iy 4
== % o
(o] ' o
(o]
0 0
—DIPLEXER
1
]
®
| 6
. y
! Y|
y
s 7
g y
- 2
2 u o
o 7
o .
o .
o %/;2/////%
o 4
T ’//;2/%’%
o7 4
o 2
T .
o .
= -
= -
==
= %%/%
o A
. /)//’ 4
= /// 7 0
ez
= °
PSU ACO08
SSC-760237600E2X-INSTALL 20F5

VERSION 00 STATUS RE REV A
MODEL VERSION 00 STATUS RE REVA



Installation Instructions

COMMSCOPE’

MTC399774-00

REMOVE

IUU

=

A4
=2
P
P
S i
e
e
e
e
e
e
S ixs s
Sixs s
e
e
e
i ac o
S xS
P
=

MM neaen

RS

/

N

-

STEP 1

MTM1031-1601
REMOVE

NN
NN\

N

=

Nikinng
A HHhlHhHninik

Nhinnnnn

Hniitki i in g
Hniii iki ienne

=

=

S o
e

N

]

N\
NN =

Minnnn i: ner r: R !nm R : RNR:UR R

N

N
L

NNk

Al
A h a annnne

A Zh i iy

=0

NN
&Y

RHEIMNN

N

M
NN

NN\

HRMRRRNS

MNimnnnnnm_r e m;ulIHt
ANikiKmRHRNR

HHiiainjnmnannnen e nin e

A

MTC399771-00
REMOVE

TEMPORARILY UNINSTALL RADIO BRACKETS MTC399774-00, MTC399771-00 &
MTM1031-1601 FROM THE ENCLOSURE AS SHOWN, INSTALL THESE WITH RADIO TO
THE ENCLOSURE

HMHiHalT]HlT] Tl i i niniil

AN inmR

. N

MMM

L

SN

N HHIH'nNN;NnN]G

N

RADIO INSTALLATION

RHS MOUNTING BRACKET MTC399774-00

N

O
(@)
O

(D),

O L0 o
O O
O
oo© O oo

CJOOOOQOO
O o O O o

o O

O
O\ o
o)

O
o)

I

4490

O
\\
M4490

MTC399774-00
LHS MOUNTING

BRACKET

4490 INSTALLATION

4X M8 HARDWARE

INSTALL 4490 TO THE LHS MOUNTING BRACKET USING 4
SETS OF M8 SCREW, LOCK WASHER AND FLAT WASHER

RADIO INSTALLATION

RHS MOUNTING BRACKET MTC399771-00

4890 INSTALLATION

MTC399771-00
RHS MOUNTING

BRACKET

4X M8 HARDWARE

INSTALL 4890 TO THE RHS MOUNTING BRACKET USING 4
SETS OF M8 SCREW, LOCK WASHER AND FLAT WASHER

DIPLEXER INSTALLATION

MTM1031-1601
DIPLEXER BRACKET

INSTALL THE DIPLEXER TO THE BRACKETS USING
M5 CAPTIVE HARDWARE PROVIDED WITH THE
DIPLEXER.

SSC-760237600E2X-INSTALL 30F5

VERSION 00 STATUS RE REV A
MODEL VERSION 00 STATUS RE REV A



COMMSCOPE’

Installation Instructions

4X M6 SEM SCREW

4890

o
— = 5@ W
Vo T :
/ SN Al Y -
y ojoqeqepoe L
| . mﬁﬁ% === |
i O
i3 fooonaoonnn L
; ﬂ_, ¢ ©
| O
J @ )
o I [ J
D i i
° - == o = _=f N _ o n
\ T — N — . Y j W
/ | i -
W o o ! Daenlnntnntnt i ntnlos o nlnlntndn [
N npenonoReo
\ - N
O
(aoaaoaoaonn [
) e(® ©
O O
ele ©m
o o (00000000000
e /L%__ggg N
[o > - o _ M
—7 E A
_nn__ - N
A Y - MMAGH HHHHH R T T H W - /////M%W;//W NN
B == L WA
. ]
(00000000000
) 2 |©@
0 O O
) C1(G) ®
N o o “=“=“=“=%=“=
B .. IO
m =§= s___,:
" (ol
_ i
g
NMHHH HH H—_—=H W
L N
- %% . / ....... MR
R R TR
1] ik it
= TR Wit
s HEEEREAEEEER U SRR
= DD I
&
s = /
>

STEP 5

STEP 4

STEP 3

DIPLEXER

o

<

o

<t

INSTALL DIPLEXER WITH BRACKET TO THE ENCLOSURE USING 4 SETS OF 1/4" NUT

AND LOCK WASHER

HANG THE 4890 WITH BRACKET IN THE ENCLOSURE AS SHOWN AND SECURE

USING 4 SETS OF M6 SEM SCREWS

HANG THE 4490 WITH BRACKET IN THE ENCLOSURE AS SHOWN AND SECURE USING 4

SETS OF M6 SEM SCREWS

40F5

SSC-760237600E2X-INSTALL

VERSION 00 STATUS RE REV A

MODEL VERSION 00 STATUS RE REV A



COMMSCOPE’

Installation Instructions

NNNN\\\\NN\\\\\\\\Q

PSU ACO08

\§
=
=
=
=
X

=
=
=

N

=
=
\§E:

=
N

=
N

N
N
=

—

g
i .
y 4
y @ 4
By

4

4

4
W i -
y 4
4 7
%&%&%&&\&\&&&&kkkkkk

=
SSS
Y
Y
=
N

W

N
SSS
=S
=S
=S
SN
S
S
S
NS
N
=
=
N
a0
a0
N0
=
Y
NN
0

STEP 7

J

\

o
=

S

LU

CA
=
—
;—
/ﬂ
s

==
==
==

=z
==

/
2227
2
2
2
x5 5
x5 5
T
s
s 5
x5 5
o
z=
o
o
=
/

\\
\\

=2
=
Z7
=
-
-
ZeZ

222
e

;;/")‘/
Ve
=
=
2
=

/
Z
s
2.2

2z
=

2

/
e
Zz
o
=
=
o
2222
o2

==

1)

\
AN
\ RN

S S

e

//

&,
&,
&,

ps

«

{

le o

]

i

el

L) 1) DA VA T} T VY VA V) T T D) V) VA V) DA DA N

|

AR
R
A,
R
A,
L,
v
T

PSU AC08

|
R
T
U
U
A
W

STEP 6

PSU AC08 RHS

PSU AC08 LHS

INSTALL PSU AC08 TO THE ENCLOSURE USING M4 CAPTIVE HARDWARE PROVIDED

WITH THE PSU.

INSTALL PSU AC08 TO THE ENCLOSURE USING M4 CAPTIVE HARDWARE PROVIDED

WITH THE PSU.

50F 5

SSC-760237600E2X-INSTALL

VERSION 00 STATUS RE REV A

MODEL VERSION 00 STATUS RE REV A



	Sheet1
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View23
	Drawing View44

	Sheet2
	Drawing View43

	Sheet3
	Drawing View24
	Drawing View25
	Drawing View27
	Drawing View45
	Drawing View47
	Drawing View48

	Sheet4
	Drawing View12
	Drawing View15
	Drawing View34

	Sheet5
	Drawing View38
	Drawing View39


